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EhRF 503 M| 13 [E]| 512 M| 18 [=| 383 F| 18 [ 355 4| 8 [A] 324 M| 15 =] 251 M| 16 =] 186 | 13 [=| 198 M| 8[al| 193 F| 9[=]| 200 M| 13 [ 200 | 4 [A] 322 H 512 H 186 M
ComEFE 458 | 4[| 357 M| 7@ 282H| 6[| 253 F| 3[E 325 | 3[E| 280M| 2| 234 M| 5[E| 223MH| 40 295 4[=] 330H| 8[E| 360 | 9 [H] 317 H 458 H 223 H
A B 256 M| 16 [|]| 269 M| 18 [a]| 288 4| 15 [=]| 301 M| 8 [gA] 482 M| 13 [al| 348 M| 15[\ 288 M| 10 [El| 246 M| 8 [=| 277 M| 10[=| 283 M| 11 [=]] 290 M| 9 [A] 304 M 482 M 246 M
ZpolY 528 M| 4[| 594 H| 5[E| 500 H| 7= 640 H| 2 [H] 740 | 3[E| 650FMH| 1[E| 620H| 1[=]| 150 | 1 [@ 965 M| 2 [{] 594 M 965 M 150 M
Ty 181 H| 7E| 210 11 =] 173 M| 13 [a]| 199 F| 4 [A] 171 ®| 6= 207 | 10[=| 177 H| 9| 148 | 3[E| 150FH| 5[ 165 M| 7[E| 153 | 6 [= 180 M 210 H 148 [
R &F 880 M| 5| 750 F| 3| 752 | 6= 1,050 H| 4 [9] 700 M| 1 [=]] 900 H| 1 [A 1,000 M| 1= 925 M| 2[a| 853 | 3[E]| 825 M| 4[q 856 M| 1,050 M 700 H
[FEFINAE 1300 @] 1[E| 730 1[E| 750 A 1[H 927 M| 1,300 ®| 730 M
FUTUR 700 | 1= 700 M| 1 [9] 720 | 1 [= 620 | 1= 840 M| 2[=]f 800 | 1 [H] 746 M 840 H 620 M
1oL 220 | 3[E| 189 M| 8[E| 170 M| 3[=]| 250 M| 3 [H 257 M| 6@ 213H| 3[E| 222H| 5I[H 213 M| 3M@E| 235HMH| 2@E]| 213H| 3[ME 217 [ 257 M 170 M
B3 120 1| 1= 180 M| 3[E| 121 H| 7[E| 150F| 4[E]| 160 H| 4[E| 110 M| 2 [A] 141 M 180 M 110 H
=Fetd 620 | 1 [|] 722 M| 9= 580F| 5| 662F| 10E| 658 M| 6ME| 627 3[E| 742/ 5= 700 H| 19 672 H 742 M 580 M
Aydx—= 850 H| 1 [A 850 M 850 M 850 M
Iz B 1,200 M| 1 [=]| 1,050 | 1 [5] 1,800 4| 1 [g] 1,943 | 2 [g] 2200 M| 11[=]| 1,650 F| 2 [=])f 1,680 M| 2,200 M| 1,050
Joyal— 0 M 0 M
AZDE=1T 550 M| 1[E| 544 F| 5[E| 543 M| 4[| 493 | 3 [ 500 19| 1= 625 M| 2=l 617 | 3[H 640 M| 2= 650 M| 1 [7A] 566 M 650 M 493 H
LU= 0H 0 M
L & C 780 M| 2= 835 F| 4[| 80M| 1[E| 680 F| 1[E 785 M| 2B 820MH| 3[E| 80HM| 2[E| 820M| 1[=| 820M| 1[=l| 810F| 2[E| 810H| 4 [ 811 [ 850 M 680 M
TFrTk 0 M 0 M
<k om oM
E—<> 600 M| 1= 764F| 5[] 680 | 1[a 787 M| 3 [E]| 900 M| 1 [H] 1,300 | 2 [=] 843 M| 1,300 M 600 M
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A 613 M| 3 [ 640 M| 1[@| 810M| 1[E 658 M| 810HM| 613 H
SPVAITA 200 M| 1 [E 200 M 200 M 200 M
KR 20| 1[@E| 210M™ 3[@E| 189HM| 7[E| 179M| 5E| 188 M| 5[E| 203M| 3[E| 190 AH| 2[E 195 M 290 M 179 H
Z X5 |[1467M| 3[@E| 1,133 M| 3[E| 1,200 ™| 1[E] 1,150 F| 2 @ 1,120 M| 4[m| 1,250 M| 1 [@| 1,350 [| 3 [E| 1,100 M| 4[| 1,125 @[ 2 [E| 1,050 | 2 =] 1,250 M| 2 @] 1,197 @] 1,467 M| 1,050 [
NACA 1,400 M| 1 [E 870 M| 1 [a 1,135 M| 1,400 M 870 M
EZ 1633 M| 3@ 1,717 @ 3[@E| 1,738 ®| 4[@E| 1,717 | 3 [@ 1,675 M| 4[| 1,693 M| 7 [@E| 1,475 A| 4 [H 1,717 M| 3[@| 1,717 | 3[@| 1,550 M| 1[=| 1670 @] 1,738 M| 1,475 A
TDFFE 565 M| 2[@| 585 M| 2[@E| 600 M| 1 [ 580 M| 1 [m] 580 | 600 M| 565 M
HErXoeRy 0H 0H
HERE 0M 0 M
LEY 0 M 0 M
E 320 M| 1 [ 280 | 1[E| 320M| 1@ 520 ©| 1 [@ 360 | 520M| 280 M
RAFVTZAES 0M 0 M
SPZAED 1,400 M| 1 [E 1,400 M| 1,400 M| 1,400 M
EZAES [ 1400 H| 1[E 1,400 M| 1,400 M| 1,400 [
FRE—<> 2,000 M| 1 @ 1,700 M| 1 [ 1,850 M| 2,000 M| 1,700 A
#HE—<Y 1,200 @| 1 [ 1,200 M| 1,200 M| 1,200 M
- YAWAIV;! 0 M 0 M
FRINSHRA 0M 0HM
Bx 680 | 1[E| 980 M| 1[E| 750 M| 1[= 803 M| 980M| 680 H
EJAVidbs 1680 M| 1[E| 780 | 1[E 1230 M| 1680 M| 780 M
\t1) 0M 0M
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K3 0 M 0 M
[CAIZK 3,583 M| 31[al| 4167 M| 3 [a]| 4,800 | 5 [al| 4,350 4| 4 [g] 3,820 M| 6 [A] 4,400 M| 1 [=]| 2,600 M| 1 [=]| 4400 | 2 [=]| 4400 /4| 1 [al| 4,145 | 4,800 | 2,600 H
¥ 0M 0 M
INAE 555 M| 4Bl 598 M| 5[E| 492 H| 6[=| 600 H| 1 [A] 570 | 3[E| 615MH| 2[E| 600 M| 2I[q] 825 M| 2| 765M| 2[E| 565 M| 2I[d 594 H 825 M 492 M
Ty ¥ 1,275 | 2 [H] 1275 H| 1275 M| 1275 H
+0Oy 0H 0M
EOANAY 2450 M| 1 [9] 2,450 M| 2,450 M| 2,450 M
ZR 450 M| 1 [= 450 M| 450 M| 450 M
-3 1,000 | 1 [ 1,000 M| 1,000 H| 1,000 H
YAC 0H 0H
HMNA 40 M| 1[H] 58 | 1[=l| 100 | 1 [= 66 M 100 M 40 M
HKBAIF 0 M 0 M
3= 0N 242 | 2B 245H| 2[E| 239 2[E| 240 H| 1 [°] 275 1| 1[E| 300H| 3@ 206 | 1[E| 336 M| 1@ 381 H| 2@ 381 H| 1][H 285 M 381 M 206 M
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